Center for Accessible Technology SoCalGas DR Pilot A.23-01004 Melissa Kasnitz 2023 Merits Time

| Date | Project | Task | Notes | Hours | Rate | Total | Name |
|---------|-----------------------|--------------------------|--|-------|-------|----------|---------------------------------|
| 1/9/23 | SoCalGas DR Pilots | General Participation | Review application & testimony; call w/ A. Green re: same | 0.6 | \$720 | \$432.00 | FILED Kasnitz 03/27/24 |
| 1/26/23 | SoCalGas DR Pilots | Residential | Conf. w/ A. Green re: issues to raise in protest & past gas DR pilots | 0.3 | \$720 | \$216.00 | 02:40 PM Kasnitz A2301004 |
| 1/26/23 | SoCalGas DR Pilots | Coordination | Email exchange w/ EDF setting coordination call | 0.1 | \$720 | \$72.00 | Kasnitz |
| 2/2/23 | SoCalGas DR Pilots | Coordination | Call w/ EDF re: coordination on response to application | 0.6 | \$720 | \$432.00 | Kasnitz |
| 2/2/23 | SoCalGas DR Pilots | Residential | Review & edit draft protest | 0.4 | \$720 | \$288.00 | Kasnitz |
| 2/3/23 | SoCalGas DR Pilots | Residential | Review & edit revised draft protest; email exchange w/ A. Green re: same | 0.6 | \$720 | \$432.00 | Kasnitz |
| 2/6/23 | SoCalGas DR Pilots | Residential | Final revisions to protest | 0.2 | \$720 | \$144.00 | Kasnitz |
| 3/20/23 | SoCalGas DR Pilots | Residential | Conf. w/ A. Green re: issues to address at PHC | 0.3 | \$720 | \$216.00 | Kasnitz |
| 3/20/23 | SoCalGas DR Pilots | Residential | Call w/ A. Green re: next steps following PHC | 0.2 | \$720 | \$144.00 | Kasnitz |
| 3/21/23 | SoCalGas DR Pilots | Coordination | Email exchange re: scheduling M&C per ALJ's order | 0.2 | \$720 | \$144.00 | Kasnitz |
| 3/28/23 | SoCalGas DR Pilots | Coordination | Prep for M&C to prepare post-PHC Statement | 0.5 | \$720 | \$360.00 | Kasnitz |
| 3/28/23 | SoCalGas DR Pilots | Coordination | Attend M&C to prepare post-PHC Statement | 1.0 | \$720 | \$720.00 | Kasnitz |
| 3/28/23 | SoCalGas DR Pilots | Coordination | Email exchange w/ TURN re: coordination on ,ey issues for consumers | 0.2 | \$720 | \$144.00 | Kasnitz |
| 3/29/23 | SoCalGas DR Pilots | Residential | Review draft post-PHC statement; call w/ A. Green re:preparation of input re: same | 0.3 | \$720 | \$216.00 | Kasnitz |

Center for Accessible Technology SoCalGas DR Pilot A.23-01004 Melissa Kasnitz 2023 Merits Time

| 4/4/23 | SoCalGas DR Pilots | Residential | Review draft joint post-PHC statement; notes re: same; email exchange w/ J.Tran (SoCalGas) re: follow-up to same | 0.5 | \$720 | \$360.00 | Kasnitz |
|----------|-----------------------|--------------------------|--|-----|-------|----------|---------|
| 4/5/23 | SoCalGas DR Pilots | Residential | Call w/ J. Tran re: finalizing joint PostPHC Statement | 0.6 | \$720 | \$432.00 | Kasnitz |
| 4/5/23 | SoCalGas DR Pilots | Residential | Email exchange w/ J. Tran re: final revisions to Post-PHC Statement | 0.2 | \$720 | \$144.00 | Kasnitz |
| 4/27/23 | SoCalGas DR Pilots | Settlement | Email exchange w/ SCG re: settlement talks & setting same | 0.2 | \$720 | \$144.00 | Kasnitz |
| 5/4/23 | SoCalGas DR Pilots | Settlement | Prepare for settlement meeting with SCG re: residential DR proposal | 0.3 | \$720 | \$216.00 | Kasnitz |
| 5/4/23 | SoCalGas DR Pilots | Settlement | Attend settlement meeting on residential DR proposal | 0.9 | \$720 | \$648.00 | Kasnitz |
| 5/4/23 | SoCalGas DR Pilots | Settlement | Conf. w/ A. Green re: next steps following settlement meeting | 0.2 | \$720 | \$144.00 | Kasnitz |
| 5/26/23 | SoCalGas DR Pilots | Settlement | Conf. w/ A. Green re: response to SoCalGas re: Energy Division input on residential proposal | 0.2 | \$720 | \$144.00 | Kasnitz |
| 6/2/23 | SoCalGas DR Pilots | General Participation | Review late-filed written ex parte notice from SoCalGas | 0.2 | \$720 | \$144.00 | Kasnitz |
| 6/21/23 | SoCalGas DR Pilots | General Participation | Review Ruling requesting additional information for SoCalGas | 0.3 | \$720 | \$216.00 | Kasnitz |
| 7/5/23 | SoCalGas DR Pilots | General Participation | Review information filed by SoCalGas in response to ALJ Ruling | 0.3 | \$720 | \$216.00 | Kasnitz |
| 9/12/23 | SoCalGas DR Pilots | General Participation | Review further ruling seeking additional info from SoCalGas | 0.2 | \$720 | \$144.00 | Kasnitz |
| 9/15/23 | SoCalGas DR Pilots | General Participation | Review SCG extension request & response granting extension | 0.1 | \$720 | \$72.00 | Kasnitz |
| 9/27/23 | SoCalGas DR Pilots | General Participation | Review information provided by SoCalGas in response to 9/12 Ruling | 0.3 | \$720 | \$216.00 | Kasnitz |
| 11/16/23 | SoCalGas DR Pilots | General Participation | Review SoCalGas ex parte notice | 0.1 | \$720 | \$72.00 | Kasnitz |

Center for Accessible Technology SoCalGas DR Pilot A.23-01004 Melissa Kasnitz 2023 Merits Time

| 12/21/23 | SoCalGas DR Pilots | PD | Review PD denying application; notes re: same for comments | 0.5 | \$720 | \$360.00 | Kasnitz |
|----------|-----------------------|----|--|-----|-------|------------|---------|
| 12/27/23 | SoCalGas DR Pilots | PD | Review PD & record materials for preparation of comments on PD; draft same | 1.4 | \$720 | \$1,008.00 | Kasnitz |

Totals: 12.0 \$8,640.00

Center for Accessible Technology SoCalGas DR Pilot A.23-01004 Melissa Kasnitz 2024 Merits Time

| Date | Project | Task | Notes | Hours | Rate | Total | Name |
|---------|-----------------------|------|--|-------|-------|----------|---------|
| 1/10/24 | SoCalGas DR Pilots | PD | Draft comments on PD | 0.2 | \$735 | \$147.00 | Kasnitz |
| 1/10/24 | SoCalGas DR Pilots | PD | Review party comments on PD | 0.3 | \$735 | \$220.50 | Kasnitz |
| 1/16/24 | SoCalGas DR Pilots | PD | Review party reply comments on PD dismissing application | 0.2 | \$735 | \$147.00 | Kasnitz |
| 1/23/24 | SoCalGas DR Pilots | PD | Review Rev. 1 of PD Denying Application | 0.1 | \$735 | \$73.50 | Kasnitz |

Totals: 0.8 \$588.00

Center for Accessible Technology SoCalGas DR Pilot A.23-01004 Alexandra Green 2023 Merits Time

| Date | Project | Task | Notes | Hours | Rate | Total | Name |
|---------|-----------------------|--------------------------|---|-------|-------|----------|-------|
| 1/9/23 | SoCalGas DR Pilots | Residential | Call w/ M. Kasnitz re: application and key issues for customers with disabilities | 0.2 | \$245 | \$49.00 | Green |
| 1/11/23 | SoCalGas DR Pilots | Residential | Review and take notes on pilot program application; identify issues of concern for protest | 1.3 | \$245 | \$318.50 | Green |
| 1/17/23 | SoCalGas DR Pilots | Residential | Research past residential SCE Demand Response pilot applications | 0.4 | \$245 | \$98.00 | Green |
| 1/18/23 | SoCalGas DR Pilots | Residential | Research on past residential SCE Demand Response pilot applications; draft summary memo re: same | 1.2 | \$245 | \$294.00 | Green |
| 1/23/23 | SoCalGas DR Pilots | Residential | Research on prior SCG smart thermostat programs; draft summary memo re: same | 0.8 | \$245 | \$196.00 | Green |
| 1/26/23 | SoCalGas DR Pilots | Residential | Discussion with M. Kasnitz re: preparation of protest & inclusion of information on past demand response programs | 0.3 | \$245 | \$73.50 | Green |
| 1/26/23 | SoCalGas DR Pilots | Residential | Outline key issues in SCG's pilot application to address in protest | 0.3 | \$245 | \$73.50 | Green |
| 1/31/23 | SoCalGas DR Pilots | Residential | Draft protest to application | 0.6 | \$245 | \$147.00 | Green |
| 2/2/23 | SoCalGas DR Pilots | Coordination | Meet with EDF to discuss topics for protest to application | 0.6 | \$245 | \$147.00 | Green |
| 2/2/23 | SoCalGas DR Pilots | Residential | Draft protest to application | 1.4 | \$245 | \$343.00 | Green |
| 2/3/23 | SoCalGas DR Pilots | Residential | Revise protest to application per feedback | 0.5 | \$245 | \$122.50 | Green |
| 2/6/23 | SoCalGas DR Pilots | Residential | Revise protest to pilot program application per feedback | 0.2 | \$245 | \$49.00 | Green |
| 2/9/23 | SoCalGas DR Pilots | General Participation | Review party responses/protests; draft summary of same | 0.5 | \$245 | \$122.50 | Green |
| 2/21/23 | SoCalGas DR Pilots | General Participation | Review SCG response to protests | 0.2 | \$245 | \$49.00 | Green |

Center for Accessible Technology SoCalGas DR Pilot A.23-01004 Alexandra Green 2023 Merits Time

| 3/10/23 | SoCalGas DR Pilots | General Participation | Review notice setting PHC | 0.1 | \$245 | \$24.50 | Green |
|---------|-----------------------|--------------------------|--|-----|-------|----------|-------|
| 3/14/23 | SoCalGas DR Pilots | General Participation | Review instruction from ALJ re: participation at upcoming PHC & agenda | 0.2 | \$245 | \$49.00 | Green |
| 3/20/23 | SoCalGas DR Pilots | General Participation | Prepare for Pre-Hearing Conference; conf. w/ M. Kasnitz re: same | 0.6 | \$245 | \$147.00 | Green |
| 3/20/23 | SoCalGas DR Pilots | General Participation | Attend pre-hearing conference; conf. w/ M. Kasnitz re: next steps | 1.0 | \$245 | \$245.00 | Green |
| 3/28/23 | SoCalGas DR Pilots | Coordination | Attend meet and confer with other parties to develop joint statement | 1.0 | \$245 | \$245.00 | Green |
| 3/29/23 | SoCalGas DR Pilots | Residential | Conf. w/ M. Kasnitz re CforAT input on draft post-PHC statement; draft email re: same | 0.2 | \$245 | \$49.00 | Green |
| 5/4/23 | SoCalGas DR Pilots | Settlement | Attend settlement meeting with SCG | 0.9 | \$245 | \$220.50 | Green |
| 5/4/23 | SoCalGas DR Pilots | Settlement | Post-meeting discussion of next steps with M. Kasnitz | 0.2 | \$245 | \$49.00 | Green |
| 5/4/23 | SoCalGas DR Pilots | Settlement | Research on Department of Energy grant for SCG's proposed demand response pilot program | 0.4 | \$245 | \$98.00 | Green |
| 5/26/23 | SoCalGas DR Pilots | Settlement | Email exchange w/ J. Tran re: SoCalGas' discussions w/ Energy Division regarding residential pilot proposal | 0.2 | \$245 | \$49.00 | Green |
| 5/26/23 | SoCalGas DR Pilots | Settlement | Conf. w/ M. Kasnitz re: SCG's information on Energy Division input & response to same | 0.2 | \$245 | \$49.00 | Green |

Totals: 13.5 \$3,307.50

Center for Accessible Technology SoCalGas DR Pilot A.23-0100 Fee Time

| Project | Task | Notes | Hours | Rate | Total | Name |
|-----------------------|--|---|---|---|---|---|
| SoCalGas DR Pilots | Fees | Draft NOI | 0.9 | \$117.50 | \$105.75 | Green |
| | | | | _ | | |
| SoCalGas DR Pilots | Fees | Review & edit NOI | 0.2 | \$360 | \$72.00 | Kasnitz |
| | | | | | | |
| SoCalGas DR Pilots | Fees | Review final decision; notes re: areas of substantial contribution for compensation request | 1.0 | \$375 | \$375.00 | Kasnitz |
| SoCalGas DR Pilots | Fees | Draft compensation request | 1.2 | \$375 | \$450.00 | Kasnitz |
| SoCalGas DR Pilots | Fees | Conf. w/ R. Sweetnam re: preparation of compensation request | 0.3 | \$375 | \$112.50 | Kasnitz |
| SoCalGas DR Pilots | Fees | Review & edit compensation request | 0.7 | \$375 | \$262.50 | Kasnitz |
| SoCalGas DR Pilots | Fees | Final revisions to compensation request | 0.4 | \$375 | \$150.00 | Kasnitz |
| | | | 3.6 | | \$1,350.00 | |
| SoCalGas DR Pilots | Fees | Conf. w/ M. Kasnitz re: preparation of compensation request | 0.3 | \$122.50 | \$36.75 | Sweetnam |
| SoCalGas DR Pilots | Fees | Review outline of substantial contributions; draft compensation request | 1.0 | \$122.50 | \$122.50 | Sweetnam |
| SoCalGas DR Pilots | Fees | Draft compensation request | 1.3 | \$122.50 | \$159.25 | Sweetnam |
| | SoCalGas DR Pilots SoCalGas | SoCalGas DR Pilots SoCalGas Fees SoCalGas Fees SoCalGas Fees | SoCalGas DR Pilots Fees Draft NOI SoCalGas DR Pilots Fees Review & edit NOI SoCalGas DR Pilots Fees Review final decision; notes re: areas of substantial contribution for compensation request SoCalGas DR Pilots Fees Draft compensation request SoCalGas DR Pilots Fees Conf. w/ R. Sweetnam re: preparation of compensation request SoCalGas DR Pilots Fees Review & edit compensation request SoCalGas DR Pilots Fees Final revisions to compensation request SoCalGas DR Pilots Fees Conf. w/ M. Kasnitz re: preparation of compensation request SoCalGas DR Pilots Fees Review outline of substantial contributions; draft compensation request SoCalGas DR Pilots Fees Praft compensation request | SoCalGas DR Pilots Fees Draft NOI 0.9 SoCalGas DR Pilots Fees Review & edit NOI 0.2 SoCalGas DR Pilots Fees Review final decision; notes re: areas of substantial contribution for compensation request 1.0 SoCalGas DR Pilots Fees Draft compensation request 1.2 SoCalGas DR Pilots Fees Conf. w/ R. Sweetnam re: preparation of compensation request 0.3 SoCalGas DR Pilots Fees Review & edit compensation request 0.7 SoCalGas DR Pilots Fees Final revisions to compensation request 0.4 SoCalGas DR Pilots Fees Conf. w/ M. Kasnitz re: preparation of compensation request 0.3 SoCalGas DR Pilots Fees Review outline of substantial contributions; draft compensation request 1.0 SoCalGas DR Pilots Fees Draft compensation request 1.3 | SoCalGas DR Pilots Fees Draft NOI 0.9 \$117.50 SoCalGas DR Pilots Fees Review & edit NOI 0.2 \$360 SoCalGas DR Pilots Fees Review final decision; notes re: areas of substantial contribution for compensation request 1.0 \$375 SoCalGas DR Pilots Fees Draft compensation request 1.2 \$375 SoCalGas DR Pilots Fees Conf. w/ R. Sweetnam re: preparation of compensation request 0.3 \$375 SoCalGas DR Pilots Fees Review & edit compensation request 0.7 \$375 SoCalGas DR Pilots Fees Final revisions to compensation request 0.4 \$375 SoCalGas DR Pilots Fees Conf. w/ M. Kasnitz re: preparation of compensation request 0.3 \$122.50 SoCalGas DR Pilots Fees Review outline of substantial contributions; draft compensation request 1.0 \$122.50 SoCalGas DR Pilots Fees Praft compensation request 1.3 \$122.50 | SoCalGas DR Pilots Fees Draft NOI 0.9 \$117.50 \$105.75 SoCalGas DR Pilots Fees Review & edit NOI 0.2 \$360 \$72.00 SoCalGas DR Pilots Fees Review final decision; notes re: areas of substantial contribution for compensation request 1.0 \$375 \$375.00 SoCalGas DR Pilots Fees Draft compensation request 1.2 \$375 \$450.00 SoCalGas DR Pilots Fees Conf. w/ R. Sweetnam re: preparation of compensation request 0.3 \$375 \$112.50 SoCalGas DR Pilots Fees Review & edit compensation request 0.7 \$375 \$262.50 SoCalGas DR Pilots Fees Final revisions to compensation request 0.4 \$375 \$150.00 SoCalGas DR Pilots Fees Conf. w/ M. Kasnitz re: preparation of compensation request 0.3 \$122.50 \$36.75 SoCalGas DR Pilots Fees Review outline of substantial contributions; draft compensation request 1.0 \$122.50 \$122.50 SoCalGas DR Pilots Fees Draft compensation request 1.3 \$122.50 |

0.7

\$122.50

\$85.75

Sweetnam

Draft compensation request

SoCalGas

DR Pilots

Fees

2/27/24

Center for Accessible Technology SoCalGas DR Pilot A.23-0100 Fee Time

| 2/28/24 | SoCalGas DR Pilots | Fees | Draft compensation request | 1.2 | \$122.50 | \$147.00 | Sweetnam |
|---------|-----------------------|------|----------------------------|-----|----------|----------|----------|
| 3/26/24 | SoCalGas DR Pilots | Fees | Draft compensation request | 1.0 | \$122.50 | \$122.50 | Sweetnam |
| | | | | | | * | |

5.5 \$673.75